
10636 10636.5 10637 10637.5 10638
cyclenum

1

1.5

2

2.5

3

al
ph

a1
3_

4e
X

1X
alpha13_4eX1X:cyclenum {run == 8177}

10636 10636.5 10637 10637.5 10638
cyclenum

0.8−

0.6−

0.4−

0.2−

0

0.2

0.4

0.6

0.8

1

1.2

1.4

al
ph

a4
6_

4e
Y

4a
Y

alpha46_4eY4aY:cyclenum {run == 8177}

10636 10636.5 10637 10637.5 10638
cyclenum

4−

3.5−

3−

2.5−

2−

de
lta

13
_1

2X
4e

X

delta13_12X4eX:cyclenum {run == 8177}

10636 10636.5 10637 10637.5 10638
cyclenum

1−

0.5−

0

0.5

1

de
lta

46
_1

2X
4e

Y

delta46_12X4eY:cyclenum {run == 8177}

10636 10636.5 10637 10637.5 10638
cyclenum

8175

8175.5

8176

8176.5

8177

8177.5

8178

8178.5

8179

ru
n

run:cyclenum {run == 8177}

10636 10636.5 10637 10637.5 10638
cyclenum

0

0.5

1

1.5

2

2.5

3

se
gm

en
t

segment:cyclenum {run == 8177}



10636 10636.5 10637 10637.5 10638
cyclenum

84.5−

84−

83.5−

83−

82.5−

us
l_

1X
usl_1X:cyclenum {run == 8177}

10636 10636.5 10637 10637.5 10638
cyclenum

5−

4.5−

4−

3.5−

3−us
l_

4a
Y

usl_4aY:cyclenum {run == 8177}

10636 10636.5 10637 10637.5 10638
cyclenum

15

15.5

16

16.5

17

us
l_

4e
X

usl_4eX:cyclenum {run == 8177}

10636 10636.5 10637 10637.5 10638
cyclenum

24

24.5

25

25.5

26

us
l_

4e
Y

usl_4eY:cyclenum {run == 8177}

10636 10636.5 10637 10637.5 10638
cyclenum

42.5−

42−

41.5−

41−

40.5−

us
l_

12
X

usl_12X:cyclenum {run == 8177}

10636 10636.5 10637 10637.5 10638
cyclenum

8175

8175.5

8176

8176.5

8177

8177.5

8178

8178.5

8179

ru
n

run:cyclenum {run == 8177}



10636 10636.5 10637 10637.5 10638
cyclenum

130.4−

130.2−

130−

129.8−

129.6−

129.4−

129.2−

129−

128.8−

128.6−

128.4−

128.2−

us
r_

1X

usr_1X:cyclenum {run == 8177}

10636 10636.5 10637 10637.5 10638
cyclenum

5.5−

5−

4.5−

4−

3.5−

us
r_

4a
Y

usr_4aY:cyclenum {run == 8177}

10636 10636.5 10637 10637.5 10638
cyclenum

177

177.5

178

178.5

179

us
r_

4e
X

usr_4eX:cyclenum {run == 8177}

10636 10636.5 10637 10637.5 10638
cyclenum

19.2

19.4

19.6

19.8

20

20.2

20.4

20.6

20.8

21

21.2

21.4

us
r_

4e
Y

usr_4eY:cyclenum {run == 8177}

10636 10636.5 10637 10637.5 10638
cyclenum

43−

42.5−

42−

41.5−

41−

us
r_

12
X

usr_12X:cyclenum {run == 8177}

10636 10636.5 10637 10637.5 10638
cyclenum

8175

8175.5

8176

8176.5

8177

8177.5

8178

8178.5

8179

ru
n

run:cyclenum {run == 8177}



10636 10636.5 10637 10637.5 10638
cyclenum

16455.5

16456

16456.5

16457

16457.5

us
l_

co
il1

usl_coil1:cyclenum {run == 8177}

10636 10636.5 10637 10637.5 10638
cyclenum

2371.6

2371.8

2372

2372.2

2372.4

2372.6

2372.8

2373

2373.2

2373.4

2373.6

2373.8

us
l_

co
il3

usl_coil3:cyclenum {run == 8177}

10636 10636.5 10637 10637.5 10638
cyclenum

5458

5458.5

5459

5459.5

5460

us
l_

co
il4

usl_coil4:cyclenum {run == 8177}

10636 10636.5 10637 10637.5 10638
cyclenum

3489−

3488.5−

3488−

3487.5−

3487−

us
l_

co
il6

usl_coil6:cyclenum {run == 8177}

10636 10636.5 10637 10637.5 10638
cyclenum

6595.5

6596

6596.5

6597

6597.5

us
l_

co
il7

usl_coil7:cyclenum {run == 8177}

10636 10636.5 10637 10637.5 10638
cyclenum

8175

8175.5

8176

8176.5

8177

8177.5

8178

8178.5

8179

ru
n

run:cyclenum {run == 8177}



10636 10636.5 10637 10637.5 10638
cyclenum

14828.5−

14828−

14827.5−

14827−

14826.5−

us
r_

co
il1

usr_coil1:cyclenum {run == 8177}

10636 10636.5 10637 10637.5 10638
cyclenum

1874.5−

1874−

1873.5−

1873−

1872.5−

us
r_

co
il3

usr_coil3:cyclenum {run == 8177}

10636 10636.5 10637 10637.5 10638
cyclenum

4860.6

4860.8

4861

4861.2

4861.4

4861.6

4861.8

4862

4862.2

4862.4

4862.6

4862.8

us
r_

co
il4

usr_coil4:cyclenum {run == 8177}

10636 10636.5 10637 10637.5 10638
cyclenum

3171−

3170.5−

3170−

3169.5−

3169−

us
r_

co
il6

usr_coil6:cyclenum {run == 8177}

10636 10636.5 10637 10637.5 10638
cyclenum

35497.5

35498

35498.5

35499

35499.5

us
r_

co
il7

usr_coil7:cyclenum {run == 8177}

10636 10636.5 10637 10637.5 10638
cyclenum

8175

8175.5

8176

8176.5

8177

8177.5

8178

8178.5

8179

ru
n

run:cyclenum {run == 8177}



10636 10636.5 10637 10637.5 10638
cyclenum

122.5−

122−

121.5−

121−

120.5−

1X
_c

oi
l1

1X_coil1:cyclenum {run == 8177}

10636 10636.5 10637 10637.5 10638
cyclenum

12

12.2

12.4

12.6

12.8

13

13.2

13.4

13.6

13.8

14

14.2

1X
_c

oi
l3

1X_coil3:cyclenum {run == 8177}

10636 10636.5 10637 10637.5 10638
cyclenum

224.5

225

225.5

226

226.5

1X
_c

oi
l7

1X_coil7:cyclenum {run == 8177}

10636 10636.5 10637 10637.5 10638
cyclenum

229.5−

229−

228.5−

228−

227.5−

4e
X

_c
oi

l1

4eX_coil1:cyclenum {run == 8177}

10636 10636.5 10637 10637.5 10638
cyclenum

23.5−

23−

22.5−

22−

21.5−

4e
X

_c
oi

l3

4eX_coil3:cyclenum {run == 8177}

10636 10636.5 10637 10637.5 10638
cyclenum

237.6

237.8

238

238.2

238.4

238.6

238.8

239

239.2

239.4

239.6

239.8

4e
X

_c
oi

l7

4eX_coil7:cyclenum {run == 8177}



10636 10636.5 10637 10637.5 10638
cyclenum

286.5

287

287.5

288

288.5

4a
Y

_c
oi

l4

4aY_coil4:cyclenum {run == 8177}

10636 10636.5 10637 10637.5 10638
cyclenum

120.8−

120.6−

120.4−

120.2−

120−

119.8−

119.6−

119.4−

119.2−

119−

118.8−

118.6−

4a
Y

_c
oi

l6

4aY_coil6:cyclenum {run == 8177}

10636 10636.5 10637 10637.5 10638
cyclenum

45.5−

45−

44.5−

44−

43.5−

4a
Y

_c
oi

l7

4aY_coil7:cyclenum {run == 8177}

10636 10636.5 10637 10637.5 10638
cyclenum

264.2

264.4

264.6

264.8

265

265.2

265.4

265.6

265.8

266

266.2

266.4

4e
Y

_c
oi

l4

4eY_coil4:cyclenum {run == 8177}

10636 10636.5 10637 10637.5 10638
cyclenum

148−

147.5−

147−

146.5−

146−4e
Y

_c
oi

l6

4eY_coil6:cyclenum {run == 8177}

10636 10636.5 10637 10637.5 10638
cyclenum

38−

37.5−

37−

36.5−

36−

4e
Y

_c
oi

l7

4eY_coil7:cyclenum {run == 8177}



10636 10636.5 10637 10637.5 10638
cyclenum

239.5−

239−

238.5−

238−

237.5−12
X

_c
oi

l1

12X_coil1:cyclenum {run == 8177}

10636 10636.5 10637 10637.5 10638
cyclenum

90.4−

90.2−

90−

89.8−

89.6−

89.4−

89.2−

89−

88.8−

88.6−

88.4−

88.2−

12
X

_c
oi

l3

12X_coil3:cyclenum {run == 8177}

10636 10636.5 10637 10637.5 10638
cyclenum

10

10.5

11

11.5

12

12
X

_c
oi

l4

12X_coil4:cyclenum {run == 8177}

10636 10636.5 10637 10637.5 10638
cyclenum

3.6

3.8

4

4.2

4.4

4.6

4.8

5

5.2

5.4

5.6

5.8

12
X

_c
oi

l6

12X_coil6:cyclenum {run == 8177}

10636 10636.5 10637 10637.5 10638
cyclenum

539.8−

539.6−

539.4−

539.2−

539−

538.8−

538.6−

538.4−

538.2−

538−

537.8−

537.6−

12
X

_c
oi

l7

12X_coil7:cyclenum {run == 8177}

10636 10636.5 10637 10637.5 10638
cyclenum

8175

8175.5

8176

8176.5

8177

8177.5

8178

8178.5

8179

ru
n

run:cyclenum {run == 8177}
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